
551-410 Baseball Backstop without Hood 
551-411 Baseball Backstop with Hood 

 
Page 1 

Rev 05/22/08 
IMPORTANT 

 
Please retain this instruction sheet in your files.  It contains important maintenance instructions, as well as 
replacement parts information. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

551-410 WITHOUT HOOD 551-411 WITH HOOD
1 CTN  Hardware Bag 1 CTN  Hardware Bag 
6 WF 553-351 Panels 2 PIPE 553-204 Hood Support 
4 PIPE 553-602 2 3/8” OD x 13’0” 7 WF 553-351 Panel 
   HARDWARE BAG 2 WF 553-352 Panel 
4  105-017 2 3/8” Pipe Plug 4 PIPE 553-602 2 3/8” OD x 13’0” 
12 pr  551-511 1” x 1” Saddle Clamps  HARDWARE BAG
24 pr  555-512 1” x 2 3/8” Saddle 

Clamps 
4 105-017 2 3/8 OD Pipe Plugs 

 
48  126-505 5/16” x 1 ¼” Carriage 

Bolts 
24 pr 555-511 1” x 1” Saddle Clamps 

12  116-504 5/16” x 1” Hex Bolts 32 pr 555-512 1” x 2 3/8” Saddle Clamps 
60  326-501 5/16” Lock Washers 64 126-505 5/16” x 1 ¼” Carriage Bolts 
60  216-501 5/16” Hex Nuts 24 116-504 5/16” x 1” Hex Bolts 
    88 326-501 5/16” Lock Washers 
    88 216-501 5/16” Hex Nuts 
    1 416-400 ¼” Socket Key 
    2 196-803 ½”  x ¾” Socket Set Screw 

 
 
 
 

SportsPlay Equipment, Inc. 5642 Natural Bridge, St. Louis, MO 63120 (314) 389-4140 

1 CTN      6 WF 4 PIPE  11 Total Pcs.
 480# Total Weight CLASS 70 

1 CTN      9 WF 6 PIPE  16 Total 
Pcs. 530# Total Weight CLASS 70 



551-410 Baseball Backstop without Hood 
551-411 Baseball Backstop with Hood 

 
Page 2 

Rev 05/22/08 
 

 
TOOLS NEEDED FOR THE JOB: 

 
Post Hole Digger    Crescent Wrench    
Level     5/16” Socket Wrench 
15 cu. ft. of Pre-Mix Concrete 
 

GENERAL ASSEMBLY INSTRUCTIONS 
 

1. Check each piece carefully and remove any sharp projections that may have been caused by 
shipping. 

2. DO NOT Tighten nuts more than hand-tight until the entire assembly is completed. 
3. All threaded ends of bolts protruding beyond nuts should be cut off and peened over to 

remove any sharp edges. 
 
 
 

SPECIFIC ASSEMBLY INSTRUCTIONS: 
 
1. Mark and dig footing holes as shown on page one. 
2. Assemble one center section of backstop on ground with bottom of upright posts at the front edge 

of the footing holes. 
3. Hand-tighten all bolts securely. 
4. Raise assembly into position in footing holes. 
5. Assemble each additional section in a similar manner.  Raise and attach to sections already in 

place. 
6. (for 551-411 model only) Add hood sections. 
7. Plumb and level backstop.  Tighten all bolts securely. 
8. Pour footings.  Place bricks or old cement chunks below the posts to allow wet cement under the 

post.  
9. Allow 48 hours to allow concrete to dry before using the equipment. 

 
 
MAINTENANCE: 

 

SportsPlay Equipment, Inc. 5642 Natural Bridge, St. Louis, MO 63120 (314) 389-4140 

Check periodically for loose bolts and/or broken parts and tighten or replace them immediately. 


	HARDWARE BAG
	HARDWARE BAG
	GENERAL ASSEMBLY INSTRUCTIONS


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /ENU (Use these settings to create PDF documents with higher image resolution for high quality pre-press printing. The PDF documents can be opened with Acrobat and Reader 5.0 and later. These settings require font embedding.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


